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Question Number : 1 Question Id : 6034212209 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A={(c,, B) e RXR: |a—1|<4and |[B—-5|< 6]}
and B={(a, B) e RXR : 16(a—2)>+9(B —6) < 144 }.
Then

Options :

6034217721, A< B

6034217722. B < A

034217723, AUB={x vy): 4 =x=4 —1=sy=sll}



6034217724, Meither A c Bnor B < A

Question Number : 1 Question Id : 6034212209 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A A={(a, B) e RXR: |a—1|<4 3R |B-5|<6F}
3 B={(c, B) e RXR : 16(a—2)2+9(B—6)> < 144 T }.
Gl

Options :

6034217721, A < B

6034217722. B < A

cosanirs, BUB={(x y) 1 —4 s x <4, —1<sy<1])

034217704, THACBEAEBC AT

Question Number : 2 Question Id : 6034212210 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
R -

If the range of the function f(x)= ———
x° =3x+ 2

,x#1,2,is (— %, a] U[B, =), then a2 +p2
is equal to :
Options :

6034217725, 188
6034217726, 190
6034217727, 192

6034217728, 194

Question Number : 2 Question Id : 6034212210 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5—x

X2 =3y +2

afe ®ed f(x) = ,x# 1,2, F U (— o, o] U[B, ©) & T o2 +p2 B T :

Options :

6034217725, 188

6034217726, 190



6034217727, 192

6034217728, 194

Question Number : 3 Question Id : 6034212211 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The number of real roots of the equation x|x—2| +3|x—3| +1=01is:
Options :

6034217729, 1

6034217730, 2
3

603421773 1.

6034217732, 4

Question Number : 3 Question Id : 6034212211 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T x | x—2| 43 |x—3| +1=0 % arafas gai &1 G&0 T :
Options :

6034217729, 1

6034217730, 2
3

603421773 1.

6034217732, 4

Question Number : 4 Question Id : 6034212212 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the locus of z e C, such that RE[; — 1_) +Re [Z__ . ] = 2, is a circle of radius r and
Z +1 2z —1i

center (a, b), then B is equal to :

r2
Options :

6034217733, 12

6034217734, 16



6034217735, 18

6034217736, 24

Question Number : 4 Question Id : 6034212212 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

uﬁzec,ﬁu?ﬁmne[z'l] +Re [E__l]zzﬁ,mﬁgqal-ﬁmaﬂiW{a,b)?ﬂ@

2z +1 2z —1

15ab

g A ; TR L
r

Options :

6034217733, 12
6034217734, 16
6034217735, 18

6034217736, 24

Question Number : 5 Question Id : 6034212213 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the system of equations

A, p € R, have infinitely many solutions. Then the number of the solutions of this system,
if x, y, z are integers and satisty 7<sx+y+2z<77, is :

Options :

6034217737, 3
6034217738, 4
6034217739, 2

6034217740. 6

Question Number : 5 Question Id : 6034212213 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



24x+y+rz=p

N, pe R, % 37d g B | 1 35 Fehma & &, Afgx, v, 2 Ok € 3R 7<x + y + 2<77 1 G FW
%ﬁﬁﬁ@%:

Options :

5]

6034217737.
6034217738, 4
6034217739, 2

6034217740. 6

Question Number : 6 Question Id : 6034212214 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let - 7 be the nth term of an A.P. If Suz a;+a,taz+.. +a,= 700, 3627 and S;,= 7, then
a, is equal to :

Options :

6034217741, OO
6034217742, 64
6034217743, ©5

6034217744, 70

Question Number : 6 Question Id : 6034212214 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WA TF AP. F1ndl 98 a, B13RS =a,+a,+a;+.. +a,=700,a,=7 3RS, =7 T, dMa_

TR E :
Options :

6034217741, O
6034217742, 64

6034217743. 65



6034217744, 70

Question Number : 7 Question Id : 6034212215 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the sum of the second, fourth and sixth terms of a G.P. of positive terms is 21 and the
sum of its eighth, tenth and twelfth terms is 15309, then the sum of its first nine terms is :

Options :

6034217745, /20
6034217746, /22
6034217747, 727

6034217748, 700

Question Number : 7 Question Id : 6034212215 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g SFIeHeR IS i T G.P. & 8%, A9 3ik TS &) &1 AN 21 € TY1 39 3734, THY 3 Tl
TSI T AT 15300 &, A THE GAH A GG H AN T

Options :

6034217745, 720
6034217746, /22
6034217747, 727

6034217748, /00

Question Number : 8 Question Id : 6034212216 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let p be the number of all triangles that can be formed by joining the vertices of a regular
polygon P of n sides and q be the number of all quadrilaterals that can be formed by
2 2
1

joining the vertices of P. If p+q=126, then the eccentricity of the ellipse % s 4= 1
n

18 :
Options :

1
6034217749, 2



-

6034217750.

p‘%

6034217751.

w2

6034217752, 4

Question Number : 8 Question Id : 6034212216 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A n ST o T TH 989 P & ¥ &1 el o9 a6 a1 99 Bysi &6 § e p & iR p

% vl 1 fAemet o9 g A 9t =SS & @@ g €1 9K p+q=126 ¥ @ <refgw
2

2
o+l =1 A
16 n

Options :

M| =

6034217749.

ol

6034217750.

p|%]

6034217751.

| 0

6034217752.

Question Number : 9 Question Id : 6034212217 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let a random variable X take values 0, 1, 2, 3 with P(X=0)=P(X=1)=p, P(X=2) =P(X=3)
and E(X?)=2E(X). Then the value of 8p—1lis:

Options :

6034217753, U
6034217754, 2

6034217755, 1



6034217756. 3

Question Number : 9 Question Id : 6034212217 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HME1 Teh Agfe8eh =X AM 0, 1, 2, 3 o1 &, ek e P(X=0)=P(X=1) =p, P(X =2) = P(X=3)
AREX?) =2EX) B I N8p—1FIAF T :
Options :

6034217753, U
6034217754, 2
6034217755, 1

6034217756, 3

Question Number : 10 Question Id : 6034212218 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A bag contains 19 unbiased coins and one coin with head on both sides. One coin drawn
atrandom is tossed and head turns up. If the probability that the drawn coin was unbiased,

m
is £ ged (m, n) =1, then n2—m? is equal to :

Options :

6034217757, 60
6034217758, 04
6034217759, 72

6034217760. 80

Question Number : 10 Question Id : 6034212218 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T Ot H 19 S faek B 3R SH 3 o 1 Tk Taeh ¢ | 0o Toaen agf=as e
BTl WAt ® i few ywe @ ®1 afe s o foess & emfyaa @9 1 wifasa

%, ged (m, n)=1 g, A n2—m2 e T :

Options :

6034217757. 60



6034217758, 04
6034217759, 72

6034217760. 80

Question Number : 11 Question Id : 6034212219 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the orthocenter of the triangle formed by the lines y=x+1, y=4x—8 and y=mx+c is
at (3, —1), then m—cis:

Options :

6034217761, 0
6034217762, 2
6034217763, — 2

6034217764, 4

Question Number : 11 Question Id : 6034212219 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Qﬁi@ﬁyzx+1, y=4x—38 3ﬁ'(y=mx+c§l'{'l QT S i ks (3, —1) %, A m—c

ELCIEE
Options :

6034217761, U
6034217762, 2
6034217763, — 2

6034217764, 4

Question Number : 12 Question Id : 6034212220 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
¥2 2

Let the length of a latus rectum of an ellipse —2+ ]::_2 =1 be 10. If its eccentricity is the
a

1; ,teR, then a2+ 1% is equal to:

minimum value of the function f{t} — 2 i+

Options :



6034217765, 115
6034217766, 120
6034217767, 125

6034217768, 126

Question Number : 12 Question Id : 6034212220 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 2

T TF g JL:—2+i—2=1 F1 T AMVes Sa] ®1 Aq913 10 8 1 afc THRT ek =],
d

11

T f(t) =t> +t+ 12,teR,$l:3f|auuﬂ%,a‘la2+b2W%:

Options :

6034217765, 119
6034217766, 120
6034217767 125

6034217768, 126

Question Number : 13 Question Id : 6034212221 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
xZ T}’E

Let e, and €, be the eccentricities of the ellipse — + = =1 and the hvperbola
b 25 K

2 2
Jlf_ﬁ — y_z =1, respectively. If b <5and e e, =1, then the eccentricity of the ellipse having
b
its axes along the coordinate axes and passing through all four foci (two of the ellipse and
two of the hyperbola) is :

Options :

V3

6034217769, 2

v7
4

6034217770.



Ul W

6034217771.

an | =

6034217772.

Question Number : 13 Question Id : 6034212221 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 2

X 2 2 2
maﬁqﬁb_z+%=1 i sfaoEe T—E_i_‘?:l FI IEFRATE A e, 3 e, 1A

b<5 3R ee,=17%, d 39 Sreferd, S =W A9 (31 S i 3R 3 AfToEe 1) F St Sl
€ 3R ek 2141, Tdener a1afl & TS €, &1 3ch=dl & :

Options :

.

6034217769, 2

=5

6034217770.

U] wa

6034217771.

Ui | s

6034217772.

Question Number : 14 Question Id : 6034212222 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of solutions of the equation ¢ps26 cosﬁ + CDSE = ZCQSSE in [— s Tr}

1S :

Options :
6034217773. 5
6034217774. 6

6034217775, 7

6034217776. 9



Question Number : 14 Question Id : 6034212222 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HHIEH cos 20 -:05E + cosﬁ = 2c053@ % [— 3, E}ﬂgﬁﬁ W
2 2 2 2 2

Options :

6034217773, 2
6034217774, ©
6034217775, 7

6034217776, 2

Question Number : 15 Question Id : 6034212223 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— —
Let a and b be the vectors of the same magnitude such that

— -3 — 3 E A

_ |a + b|
la+ bl+|a b|=J§+1.Then — is :
— —3 =3 — |El|2
la + b|—|a — b]
Options :

6034217777, 2 + N2
6034217778. * 1 22
6034217770 1 + /2

6034217780, 2 + 42

Question Number : 15 Question Id : 6034212223 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- - - -
H i = , + b| + — b
wwqﬁqm%élﬂﬁmaaﬂibmw%ﬁli _)I li _>I=ﬁ+1%|?ﬁ
la + b|—|a - b|
i =
la + bf
S, T
EY

Options :



6034217777, 2 + N2
6034217778, 4+ 242
6034217770, 1 + 42

6034217780, 2 + 42

Question Number : 16 Question Id : 6034212224 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the equation of the line passing through the point [U, - %, Dj and perpendicular to the

= A A A - AA A A A A x=—1 ]},f+4 =g
lines r =N| i+aj+bk|and r =|i—j—6k|+pn|—bi+aj+5k|is 5 = 1 = o

then a+b+c+dis equal to:
Options :

6034217781, 10
6034217782, 12
6034217783, 13

6034217784, 14

Question Number : 16 Question Id : 6034212224 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e fiig (0, — L, 0 | S T A wen st ¢ = M| i 4aj+bk | s
)

— A A A A s ; x—1 y+4 z-—c
r={f—j—6kj+u{—b5+aj+5kJ%?ﬁﬁﬂﬁ%@Immuﬁmﬂm _2==Jd =— &

at+b+c+d e T :
Options :

6034217781, 10
6034217782, 12

6034217783, 13



6034217784, 14

Question Number : 17 Question Id : 6034212225 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the lines L; : x—1=y—-2=z and L, : x—2=y=z—1. Let the feet of the
perpendiculars from the point P(5,1, —3) on the lines L; and L, be Q and R respectively.
If the area of the triangle POR is A, then 4A2 is equal to :

Options :

6034217785, 139
6034217786, 143
6034217787, 147

6034217788, 121

Question Number : 17 Question Id : 6034212225 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

W Ly i x—1=y—-2=z AR L, : x—2=y=z—-1 7 fqurR =ifeq| 7 fsig P(5, 1, -3) ¥
T Ly 31 L, TS MY &a & 915 A Q SR R © 1 Al 1S PQR #1 &57%d A €, o 4A2
TR T :

Options :

6034217785, 139
6034217786, 143
6034217787, 147

6034217788, 191

Question Number : 18 Question Id : 6034212226 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let j R — R be a polynomial function of degree four having extreme values at x=4 and

X
x=5. If lim &2)=5 , then f{2) is equal to :
x—=0 x

Options :

6034217789. 8

6034217790, 10



6034217791, 12

6034217792, 14

Question Number : 18 Question Id : 6034212226 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

) _ s

W ST SR 1 U 98U e f: R — R €, fSaF s M x =4 3Ry =5 W& 4E lim =5

r=0 x

T, f2) TWE
Options :

6034217789, O
6034217790, 10
6034217791, 12

6034217792, 14

Question Number : 19 Question Id : 6034212227 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let y=y(x) be the solution of the differential equation (x2+ 1)y’ — 2xy = (x* + 2x2+ 1)cosx,
3
1#(0)=1. Then Iy(x] dx 1s :

-3
Options :

6034217793, 18
6034217794, 24

6034217795, 30

6034217796. 36

Question Number : 19 Question Id : 6034212227 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HAT ATkl FHIHROT (x2+ 1)y’ — 2xy = (x4 + 212+ 1)cosy, y(0)=1 T A y=y(x) 81 @

3
[y(x)dx FIAAE:
-3

Options :



6034217793, 18
6034217794, 24
6034217795, 20

6034217796. 36

Question Number : 20 Question Id : 6034212228 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the area of the region {(x, ¥) : 1+x2 < y < min {x+7, 11—-3x}} is A, then 3A is equal to
Options :

6034217797, 20
6034217798, 49
6034217799, 47

6034217800, 46

Question Number : 20 Question Id : 6034212228 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
afg &3 {(x, y) : 1+22 < y < min {x+7, 11 —3x}} F1 &HA A , 0 3A A © :
Options :

6034217797, 20
6034217798, 49
6034217799, 47

6034217800, 46

Mathematics Section B

Section Id : 603421160
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 5

Number of Questions to be attempted : 5

Section Marks : 20

Maximum Instruction Time : 0



Sub-Section Number : 1
Sub-Section Id : 603421160
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 6034212229 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

The sum of the series
2x1x20C, —3x2x20C; +4x3X20C, —5x4x 20C,+ - +18 x17 x 20C,, is equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

1

Question Number : 21 Question Id : 6034212229 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

AUt 21 x20C, —3%2X XC5+4X3XW0C, —5x4 X 0C, + +++ + 18 X 17X 0C,, HT I

i |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 6034212230 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

Let the lengths of the transverse and conjugate axes of a hyperbola in standard form be
2a and 2b, respectively, and one focus and the corresponding directrix of this hyperbola
be (-5, 0) and 5x+9=0, respectively. If the product of the focal distances of a point

(u;Z\ﬂ"g] on the hyperbola is p, then 4p is equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :
1

Question Number : 22 Question Id : 6034212230 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

AT U THF AfaRaed & orquey i gt a3l &1 Sersal w99 2a @R 2b € 991 29
Afqaed &1 Tk 19 R G1a e a9 (-5, 0) SR 50 +9=0 2| I 39 fawaed |

&g (o, 2v5) it Mt g 1 oEEd p €, o 4p SR ® |



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 6034212231 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

Fort>-—1, let 0 and By be the roots of the equation

(t+2% =1)a?+((t+ 2/~ 1)es((e+2)/2 ~1)=0.1f lim ai=a and lim Be=b,

t——-1"7 t——17
then 72(a+b)? is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 6034212231 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

WAt >—1 % g g ((t+2}%—1]x2+((t+2 1]x+( t+2]/£l ]=D % Hd
o Sﬂ'{ﬁt%lﬁ llm af—ae;ﬁ'{ ]-lm Bf_b% @ 72(a+b)2 SR T I

t——
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 6034212232 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

|
If J' [ + _](Z%,q 24 4 26] i (SIB+1"" ]T +C, x>0, (o, B, vy € Z), where
(a+1)

C is the constant of integration, then «a+ B+ is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 24 Question Id : 6034212232 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

a+1

CWW-W%,H’IHwMW% |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 6034212233 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

tan(tanx) — sin(sinx)

If the function f(x)= is continuous at x=0, then f(0) is equal to

tanx —sinx

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 6034212233 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

tan (tan x ) — sin(sin x)

afg wed f(x)= —0 R Gad &, @ f(0) TR &

tanx — sinx
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
1

Physics Section A
Section Id : 603421161
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 603421161
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 6034212234 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The dimension of o is equal to that of :

€0
(hg=Vacuum permeability and ¢;=Vacuum permittivity)
Options :

%
6034217806. VDll“anE

6034217807, Resistance

6034217808. Capac1tance

6034217809, [nductance

Question Number : 26 Question Id : 6034212234 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
RO o5 forem, Frefefiam ot forem 36 s # -
€0
(1o =TTal =t Trawefieran &R e, = fatq s g/ RrewmF)
Options :
6034217806. ii S
6034217807. s EIH

6034217808. Ll

6034217809. 13[ h e

Question Number : 27 Question Id : 6034212235 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - I1.

List - I List - II

(A) Mass density () [ML2T 3]

(B) Impulse (I) [MLT 1]

(C) Power (IIl) [ML2TO]

(D) Moment of inertia (IV) [ML™3T9]
Choose the correct answer from the options given below :
Options :

s03az17810. L3-(11), (B)-(II), (C)}-(IV), (D)-()

so3an17s11. V-IV), (B)-(ID), (C)-(11D), (D)-(D)

6034217812. {A)-{I)’ {B)-{IH)’ {C)-{IV)’ (D)-{H)

s03a217813. ()-(1V), (B)-(ID), (©)-(I), (D)-(I1T)

Question Number : 27 Question Id : 6034212235 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Geit-1 1 Geit-11 % |19 fier™ =

I Te-11
(A) EHM S (I)  [ML2T-3
(B) & (1) [MLT-]
(C) wf (I) [ML2T9|
(D) TS~ (IV) [ML~3T9]
s fe T, feret # B S
Options :

o, (A1), (B, (O-(IV), D)-(D

s03a217811. LIV, (B)-(I1), (©)-(II), (D)-(D)

s03a217812. (-1, (B)~(IIL), (C)-(1V), (D)~(ID)

s03a217813. ()-(V), (B)-(ID), (C)-(I), (D)-(I1T)

Question Number : 28 Question Id : 6034212236 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



An object with mass 500 g moves along x-axis with speed v =4+x m/s. The force acting

on the object is :
Options :

6034217814, 0 N
6034217815, 4 N
6034217816, 8 N

6034217817. 6 N

Question Number : 28 Question Id : 6034212236 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FAHM 500 g 3 Tk 95, =16 0= 4+/x m/s & WY, x-A4 F T T I 2 1 9% W FERa

TA T
Options :

6034217814, O N
6034217815, 4 N
6034217816, S N

6034217817. 6 N

Question Number : 29 Question Id : 6034212237 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A helicopter flying horizontally with a speed of 360 km/h at an altitude of 2 km, drops an
object at an instant. The object hits the ground at a point O, 20 s after it is dropped.
Displacement of ‘O’ from the position of helicopter where the object was released is :

(use acceleration due to gravity g=10 m/s? and neglect air resistance)

Options :

6034217818. 245 km

6034217819. 22km

6034217820, 4 km

6034217821, /-2 km



Question Number : 29 Question Id : 6034212237 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 km I QAT T, 360 km/h i 916 F 1Y, &fast €9 § TSI HLAT §37 TH gollhiey, Tah &0
T Uk a%q, il FROEr 8 1 TR S % 20 s 916, 9% 99ad 9 foag O W 2l © | el i
feafa ¥ O =1 fazenm, sef o oeg 1 Srerman o, ® -

(&g @R g =10 m/ s FAFT &l ST arg gfcliy 1 3ua )

Options :

s034217818, 2¥/5 km

6034217819. 22km

6034217820, 4 km

6034217821, /-2 km

Question Number : 30 Question Id : 6034212238 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following forces cannot be expressed in terms of potential energy ?
Options :

6034217822, Coulomb’s force

6034217823, Gravitational force

6034217824, Restoring force

6034217825, Frictional force

Question Number : 30 Question Id : 6034212238 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frefafaa o 9 i 91 90, fufas = & 95 ° =79 T8 {691 5T 9okl © 7

Options :

6034217822. 4 e
6034217823. g i

6034217824, AcA9T «cd



6034217825, STU0I &

Question Number : 31 Question Id : 6034212239 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion (A) and the other is labelled
as Reason (R).

Assertion (A) : The radius vector from the Sun to a planet sweeps out equal areas in
equal intervals of time and thus areal velocity of planet is constant.

Reason (R) : For a central force field the angular momentum is a constant.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)
6034217826.

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
6034217827.

6034217828 (A) is correct but (R) is not correct

6034217829 (A) is not correct but (R) is correct

Question Number : 31 Question Id : 6034212239 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= 2 A feu U § : we i e (A) 3R gEL S @IOT (R) % ¥ H ARG R T T

afered (A) : T3 | UF e W iy ufcy, SR ang # SR 8% B2 €, STaUd U8
&5 o e S ¥ |

IO (R) : TF F=19 Fel-83 o e, Hoi e f=a e ¢ |

ST FUA ok ST °, ey fau e faemed # |l e 9

Options
6:34217826. (A) 3 (R) I T € SR (R), (A) P HE AR B
sosaz7szy, (A) I (R) I T €, W (R), (A) H ) v T ¥
cosni7grs, (A) TE €, T (R) 7T €|

6034217820, (A) T T, T (R) HET T

Question Number : 32 Question Id : 6034212240 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

A capillary tube of radius 0.1 mm is partly dipped in water (surface tension 70 dyn/cm
and glass water contact angle = 0°) with 30° inclined with the vertical. The length of
water risen in the capillary is cm. (Take g=9.8 m/s?)

Options :

6034217830. 5

6034217831. 5

6034217832, 2

w | B

6034217833.

Question Number : 32 Question Id : 6034212240 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 0.1 mm 1 Tk SKTYTeRT Fett ohl, SaleR o W19 30° 1 3T & 919, A9 9§ a1 (I3
T 70 dyn/cm 3R HE-5c1 1 Tk 07 = 0°) § A ST 8 | FIfereR § 34199 g0 S Fi
S cm ®1(g=9.8 m/s2 )

Options :

6034217830. 5

6034217831. 5

6034217832, 2

o | B

6034217833.

Question Number : 33 Question Id : 6034212241 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The helium and argon are put in the flask at the same room temperature (300 K). The
ratio of average kinetic energies (per molecule) of helium and argon is :

(Give : Molar mass of helium =4 g/mol, Molar mass of argon =40 g/mol)



Options :

6034217834, 111
6034217835, 1 = 10
6034217836, 10 : 1

6034217837, 1:v10

Question Number : 33 Question Id : 6034212241 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Eiferam 3R A 1 THE Fa8 aTIEE (300 K) R AR § W@ S § | @faas S s #l
siga (ufd a10)) TSt St 1 S99 €

{ﬁmw% BIfcTaH ol HIeR §oAHH =4 g/mol,aﬁhaﬂq}lwwzslﬂg/mol]

Options :

6034217834, 111
6034217835, 1 ¢ 10
6034217836, 10 11

6034217837, 1 10

Question Number : 34 Question Id : 6034212242 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - I1.

List - I List - II
(A) Isothermal (I) AW (work done)=0
(B) Adiabatic (I)  AQ (supplied heat) =0
(C) Isobaric (IlI) AU (change in internal energy) # 0
(D) Isochoric (IV) AU=0

Choose the correct answer from the options given below :
Options :
6034217838, (A2-(1D), (B)-(1D), (C)-(D), (D)-(IV)

6034217830, (N-(V), (B)-(I), (C)-(II), (D)-(1I)

s034217840. VD, (BRH(IV), (C)-(D), (D)-(II)



s03a217841. ()-(1V), (B)-(ID), (O)-(IIT), (D)-(D)

Question Number : 34 Question Id : 6034212242 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Geit-1 = Geit-11 & |19 e =
gEit-1 geit-11

(A) HHard™ () AW (feman & =) =0

(B) FEr (I AQ (g Fw) =0

(C) wHEE™ (1) AU (3A=iTek el | 9ftad) = 0
(D) HH-HATIATR (IV) AU=0

= feu TTu foeredi # | TE SOy 9 -
Options :

603421783, V-0, (B)-(II), (C)-(D), (D)-{IV)

6034217839, (-(1V), (B)-(D), (C)-(II), (D)~(IT)

6034217840, 2D, (BH(IV), (©)-(), (D)-(II)

s03a217841. ()-(1V), (B)-(ID), (C)-(IIT), (D)-(D)

Question Number : 35 Question Id : 6034212243 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The equation of a wave travelling on a string is y=sin[20wx + 10mt], where x and t are
distance and time in SI units. The minimum distance between two points having the
same oscillating speed is :

Options :

6034217842, 2.0 Cm
6034217843, 2.0 cm
6034217844, 10 cm

6034217845, 20 cm

Question Number : 35 Question Id : 6034212243 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T SR W A S TE T a7 T FHIE = sin[20mx + 10rt] ¥, STl x 3R ¢, SI Wkt § gl
AR T9G § | UM Slarr 9l et o fargsti o st ok A gl ©

Options :

6034217842, 2.0 Cm
6034217843, 0-0 cm
6034217844, 10 cm

6034217845, 20 cm

Question Number : 36 Question Id : 6034212244 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion (A) and the other is labelled
as Reason (R).

Assertion (A) : Magnetic monopoles do not exist.
Reason (R) : Magnetic field lines are continuous and form closed loops.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

034217846, Both (A) and (R) are correct and (R) is the correct explanation of (A)

6034217847 Both (A) and (R) are correct but (R) is not the correct explanation of (A)

6034217848 (A) is correct but (R) is not correct

6034217849 (A) is not correct but (R) is correct

Question Number : 36 Question Id : 6034212244 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= 2 A feu U ¥ : U w3 Y (A) 3R T I ®WOT (R) F ¥ H ARG R e T
MUY (A) :  T=F A THS! 1 FIE Al Tl & ¥

T (R) : R & W& Tad el © 1K I el i Lo H € |

ST FUA & 3T |, " e T fosmedi # | wé s 9

Options :

(A) 3 (R) ST T&T € 3 (R), (A) Tl Hel AT €|

6034217846.



(A) 3R (R) B W& €, 9% (R), (A) T T =me =& €

6034217847.

(A) TEl T, T (R) 7ToTd B

6034217848.

(A) Ted €, W] (R) Hel |

6034217849.

Question Number : 37 Question Id : 6034212245 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A dipole with two electric charges of 2 pC magnitude each, with separation distance
0.5 pm, is placed between the plates of a capacitor such that its axis is parallel to an
electric field established between the plates when a potential difference of 5V is applied.
Separation between the plates is 0.5 mm. If the dipole is rotated by 30° from the axis, it
tends to realign in the direction due to a torque. The value of torque is :

Options :
13
6034217850, 0 X 1077 Nm

6034217851, DX 1079 Nm
6034217852, 2-5 %1079 Nm

6034217853, 25X 10712 Nm

Question Number : 37 Question Id : 6034212245 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i g 0.5 pm 3R T&F F GREM 2 wC F T AR F WY Tk f5Yd, TF Ui &
qfeeshial o ote 39 YR fegd 8, 75 5 V 1 U favarr sugaa e T 39! o1a, dicead
o it Tefyd fo]d &3 oF g € | afeeamisti & ot 1 9ede 0.5 mm €1 3fs fgyga 1 s34 9
30° g1 T tan €, @ g% aer-amul &% Fro fem # grefegn & fau yaw & €1 9e- s 6

T
Options :

3
6034217850, 2 X 1077 Nm
_9
6034217851, 0 X 1077 Nm
_9
6034217852, 2-0X 1077 Nm

6034217853, 2-5x 10712 Nm



Question Number : 38 Question Id : 6034212246 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion (A) and the other is labelled
as Reason (R).

Assertion (A) : The outer body of an air craft is made of metal which protects persons
sitting inside from lightning-strikes.
Reason (R) : The electric field inside the cavity enclosed by a conductor is zero.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)
6034217854.

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
6034217855.

6034217856 (A) is correct but (R) is not correct

6034217857 (A) is not correct but (R) is correct

Question Number : 38 Question Id : 6034212246 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= 2 A feu U § : we i e (A) 3R gEL S @IOT (R) % ¥ H ARG R T T

IfWeked (A) :  UF ITFAM i a1l T SH oG 1 o Bl €, S afeq-SeTdl ¥ a7t 9
ATIadl i Y& LAl @ |

T (R) : T =TeTeh gR1 9ies TR & o<y, faga & = 2ran 2

ST FUA ok ST °, ey fau e faemed # |l e 9

Options :

(A) 3R (R) ST W& € 3R (R), (A) = Fa&l AT € |

6034217854.

(A) IR (R) T HEl €, 954 (R), (A) 1 FEl =A0EA1 @ 2

6034217855.

(A) §& %, 9% (R) 7TeTd € |

6034217856.

(A) TEd T, W (R) FeEl €

6034217857.

Question Number : 39 Question Id : 6034212247 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



21
The unit of |— is:
EUC

(I=intensity of an electromagnetic wave, c : speed of light)

Options :

6034217858, VM

—1
6034217859, INC
6034217860, NC

6034217861, [N

Question Number : 39 Question Id : 6034212247 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(WW%

AEA-Treleh 4 T Kl AT, ¢ : TR hl =)

Optlons :

6034217858, VM

—1
6034217859, INC
6034217860, NC

6034217861, INmM

Question Number : 40 Question Id : 6034212248 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A mirror is used to produce an image with magrlj_fication of — . If the distance between

1
object and its image is 40 cm, then the focal length of the mirror is

Options :

6034217862, 10 cm
6034217863, 10.7 cm

6034217864, 12 cm



6034217865, 12.7 cm

Question Number : 40 Question Id : 6034212248 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g ey i S i F w wE AR R E B e s 5 e s
=9 gfafara & &= it g 40 em €, 1 U9 F BET Tl

Options :

6034217862, 10 cm
6034217863, 10.7 cm
6034217864, 19 €M

6034217865, 12.7 cm

Question Number : 41 Question Id : 6034212249 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion (A) and the other is labelled
as Reason (R).

Assertion (A) : Refractive index of glass is higher than that of air.

Reason (R) : Optical density of a medium is directly proportionate to its mass density
which results in a proportionate refractive index.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

6034217866. Both (A) and (R) are correct and (R) is the correct explanation of (A)

6034217867, Both (A) and (R) are correct but (R) is not the correct explanation of (A)

6034217868 (A) is correct but (R) is not correct

6034217869 (A) is not correct but (R) is correct

Question Number : 41 Question Id : 6034212249 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



e &1 e g U E : U 1 iR Y (A) 3R T 1 @RIOT (R) 3 €9 | AifRd foRa T €

ATRTT (A) :  FF 1 AYSdIF, I F AqadHIE 9 AT Ear

T (R) : e WIEAH 1 Wk T, $HF SN e o W1 FETr e € s
TROMAEEY STaed IS THEIE Bl € |

I A % e o, 9 fou e fawed o 9 W 6 9

Options :

(A) 3T (R) ST & € 31 (R), (A) i Hel AT B

6034217866.

(A) 3R (R) =1 |t €, WA (R), (A) 1 T = 7 €

6034217867.

(A) TEl T, T (R) TToTd B |

6034217868.

(A) T T, W (R) TE B

6034217869.

Question Number : 42 Question Id : 6034212250 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A transparent block A having refractive index p.=1.25 is surrounded by another medium
of refractive index p.=1.0 as shown in figure. A light ray is incident on the flat face of the
block with incident angle 6 as shown in figure. What is the maximum value of 6 for which
light suffers total internal reflection at the top surface of the block ?

Options :

tan~1 (3/4)

6034217870.

6034217871, <% (3/4)

p—
6034217872, S (3/4)

-1
6034217873. tan {4/3)



Question Number : 42 Question Id : 6034212250 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AYSHIR u=1.25 T Teh IRGEN 2R A, STqaAIF w=1.0 % TF AreAn 9 fo g, s o
o o <orvem o % | WeETS1 Y U fHROT, STT9E 0T 0 % |We, T F TR Word ), few § gwi
MU STER A9fad ©1 0 1 98 AEwan °F #41 © {99 o wehm, e o 3 g W 9o
AT TR H e § 7

Options :

tan~1 (3/4)

6034217870.

=1
6034217871. cos (3/4]

in—1
6034217872. S {3/4)

1
6034217873, A0 (4/3)

Question Number : 43 Question Id : 6034212251 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A photoemissive substance is illuminated with a radiation of wavelength \; s0 that it
releases electrons with de-Broglie wavelength A,. The longest wavelength of radiation
that can emit photoelectron is A,. Expression for de-Broglie wavelength is given by :

(m : mass of the electron, h : Planck’s constant and ¢ : speed of light)

Options :
hi;
Ao = |—L
6034217874, 2mce
hi
;'t - 0]
¥ 2mc

6034217875.



Ae =
sz[ - - 1 ]
6034217876 Ni o
h
|
2me| — — —
6034217877 Ni o

Question Number : 43 Question Id : 6034212251 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T WhRI-Scasieh GeTel, TS A % Uk fafsror & 36 yohR yerd © foF 7 3-sivedl e A,
% W1 seER I Sl Scfstd Far | fafeor i g dean aies, St i yefire-seee [ w
Seafsia X HWEA €, A, B | -9t atres ¥ forn =iee @ freren e i e
{m:ﬁ@ﬁﬁﬁﬁlﬁa}qﬁ,h:‘ﬁﬁ?mﬁ?c:maﬁﬁﬁ)

Options :
hi;
O i
6034217874, 2mc
. = [P
6034217875. 2mc
e h
2mc[ 1 — 1 J
6034217876 Ni o
h
re= | 1 1
\(2111-::[ — - —]
6034217877 N R

Question Number : 44 Question Id : 6034212252 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : one is labelled as Assertion (A) and the other is labelled
as Reason (R).

Assertion (A) : The density of the copper (g‘;cu] nucleus is greater than that of the

carbon (%C] nucleus.

Reason (R) : The nucleus of mass number A has a radius pmportional to A%‘ .

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

6034217878, Both (A) and (R) are correct and (R) is the correct explanation of (A)

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
6034217879.

6034217880 (A) is correct but (R) is not correct

6034217881 (A) is not correct but (R) is correct

Question Number : 44 Question Id : 6034212252 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= < ko fIU T § : T B TSRS (A) 3R T I SRIOT (R) F &Y H AR fohan 71 2|
ST (A) :  FIR (Shcu) v F1 o, Fe (TC) A F o @ e @ ¥

THIT (R) : A T A % A9F 1 5, A3 3 oAt e 8
SRR R e AT R R G

Options
6:34217878. (A) 3 (R) T Wt & S (R), (A) 1 H =A@ T
coaiainsro, (A) S (R) T T E, W (R), (A) F 5 o T 2
6034217850, (A) T €, T (R) TeTd €

s03a2175g1, (A) T B, TR (R) Fel &

Question Number : 45 Question Id : 6034212253 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Consider the following logic circuit.

B —<¢ ) }Y

The output is Y =0 when :
Options :
6034217882, A =0 and B=0

6034217883, A =0 and B=1
6034217884, A2 =1 and B=0

6034217885. A =1 and B=1

Question Number : 45 Question Id : 6034212253 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Trefafas o gftoy ® faur =1 |

=D

R Y=0 %, ECRER
Options :

6034217882, A=0 FXB=0
6034217883, A=0 FRXB=1

6034217884, A=1 3R B=0

6034217885, A =1 I B=1
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Question Number : 46 Question Id : 6034212254 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

M and R be the mass and radius of a disc. A small disc of radius I% is removed from the

bigger disc as shown in figure. The moment of inertia of remaining part of bigger disc
about an axis AB passing through the centre O and perpendicular to the plane of disc is

4
= MR2. The value of x is

A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 46 Question Id : 6034212254 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1



1A fF M 3R R, T ﬂfﬁa*l(ﬂqﬁﬁ)%aﬂmﬁﬁ(ﬁwﬁﬁw%ﬁwiﬁﬁﬁﬁmaﬁ,
ferm 7 g T e ER, 9t St & e s € 1| IS SfehehT 3 99 9 5, e F A TR

@WW%W%WMHAB%HﬁH,WW%MRz%lemnﬂ Tl
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Question Number : 47 Question Id : 6034212255 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

Two cylindrical rods A and B made of different materials, are joined in a straight line. The
ratios of lengths, radii and thermal conductivites of these rods are:

L—A=l, ri—2 nd K—A=l The free ends of rods A and B are maintained at 400 K,
LB ¥ Ip KB 2
200 K, respectively. The temperature of rods interface is K, when equilibrium

is established.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
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Question Number : 48 Question Id : 6034212256 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

An inductor of reactance 100 (}, a capacitor of reactance 50 {}, and a resistor of resistance
50 (} are connected in series with an AC source of 10 V, 50 Hz. Average power dissipat‘ed
by the circuit is W.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

1

Question Number : 48 Question Id : 6034212256 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1
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TF AC EF 9 Ioi-w | gt €)1 ity gry afag ofa s W ¥l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 49 Question Id : 6034212257 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

A parallel plate capacitor has charge 5 X 10~ ¢ C. A dielectric slab is inserted between the
plates and almost fills the space between the plates. If the induced charge on one face of
the slab is 4 x 10~ ° C then the dielectric constant of the slab is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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M M M
The electric field in a region is given by E =[2f 4§+ 63(} x 103 N/C. The flux of the

field through a rectangular surface parallel to x-z plane is 6.0 Nm2C L. The area of the
surfaceis __ cm?2
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Question Number : 51 Question Id : 6034212259 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The extra stability of half-filled subshell is due to :

(A) Symmetrical distribution of electrons

(B)  Smaller coulombic repulsion energy

(C) The presence of electrons with the same spin in non-degenerate orbitals
(D) Larger exchange energy

(E) Relatively smaller shielding of electrons by one another

Indentify the correct statements :

Options :
6034217301, (A (B) and (D) only

6034217892, (B} (€) and (D) only

6034217893, (42 (B), (D) and (E) only

6034217894 (B} (D) and (E) only

Question Number : 51 Question Id : 6034212259 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

%9 (A), (B) T (D)

6034217891.



%9 (B), (C) T (D)

6034217892.

%9 (A), (B), (D) T (E)

6034217893.

%9 (B), (D) W (E)

6034217894.

Question Number : 52 Question Id : 6034212260 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct statement amongst the following is :

Options :

6034217895, The term ‘standard state” implies that the temperature is 0°C.

6034217896.
The standard state of a pure gasis the pure gas at a pressure of 1 bar and temperature

273 K.

] i
A;Hogg is zero for O
6034217897. f {g)

A Hﬂ is zero for O
6034217898, | 0 H(8)

Question Number : 52 Question Id : 6034212260 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
et # 9 92 F99 ©

Options :

[ [ i
6034217895, & HITh Ll T fAfed & f&6 awm= 0°C B

6034217806, 5 T8 o1 AT ST 1 bar T TH AT 273 KW LS T4 2

O(g) % feTT A, H)gg T 1
6034217897. ;

O,(e) ¥ T A 1Y, 73 %1
6034217898. 2(8) L ol %

Question Number : 53 Question Id : 6034212261 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The hydration energies of K* and C1~ are —x and —y kJ/mol respectively. If lattice
energy of KClis —z kJ/mol, then the heat of solution of KCl is :



Options :
x+y+z
6034217899.

6034217900, N YT

—z—(x+
s03ai7001, 2 XTY)

—(x +
6034217002, 2 X +Y)

Question Number : 53 Question Id : 6034212261 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
K+ & Cl~ & SIarsH Fed 6ae: —xTd —y k] /mol ¥ | 3fE KC1 %t Seteh 391 — 2 kJ/ mol ®
@ KC1 % faeraq & 1 2 -
Options :
Xt+iy+z
6034217899.

6034217900, X YT

s03a2i7001. 2~ XFY)

s03a217002. 2~ & FY)

Question Number : 54 Question Id : 6034212262 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - I1.

List - I List - 11
(A) Solution of chloroform and acetone (I)  Minimum boiling azeotrope
(B) Solution of ethanol and water (II)  Dimerizes
(C) Solution of benzene and toluene (IIf) Maximum boiling azeotrope
(D) Solution of acetic acid in benzene (IV) AV _..=0

Choose the correct answer from the options given below :
Options :
6034217903, (P)-{ID, (B)-(IV), (C)-(I), (D)A(ID

s03a217904. Y-, (B)-(1), (©)-(1V), (D)-(ILI)

6034217905, (V-(1D), (B)-(1), (C)-(1V), (D)~(1D)



6034217906 V-0, (B-(IV), (©)-(I), (D)-(I1I)

Question Number : 54 Question Id : 6034212262 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Geit-1 %1 GeiI-11 % w1y frer =1
eit-1 g1

(A) FAREH Te THEH =1 e ()  =gAaw Faeh e
(B) oA W WA 1 faerem (I fgae = @
(©) EEEiERec ﬁ?ﬁ‘l EARCERE] (11D stfasay gagaiE i :
(D) Wﬁmwaﬂﬁw (IV) AV, =0
= few o fomredl # & W S A
Options :
034217903, LY)-(), (B)-(IV), (C)-(I), (D)-(II)
6034217904, D), (B)A(D), (C)-(1V), (D)-~(I)

s03421790s. (Y-, (B)-(I), (O)-(IV), (D)-(I)

6034217906, (1D, (BIHIV), (O-(I), (D)-(II)

Question Number : 55 Question Id : 6034212263 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Liquid A and B form an ideal solution. The vapour pressures of pure liquids A and B are
350 and 750 mm Hg respectively at the same temperature. If x, and xg are the mole
fraction of A and B in solution while i, and yg are the mole fraction of A and B in vapour
phase then,

Options :
TA- o YA

L 1
6034217907. ~ B UB

o, R

6034217908, "B YB

P { ==
6034217909. (s =) < (53— ¥p)



TA YA

6034217910, B UB

Question Number : 55 Question Id : 6034212263 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
%9 A T4 B UF 3SY foe@d 1d € | 95 59 A U6 B 99 /99 T a1 S A 350 TF 750
mm Hg ¥ | fE fema & A T5 B % Hict 9ISt x , Ta 1y § STafeh aroq greeen H A U6 B 3 Hiet st
H,-\@HB%’#'=
Options :

il g A
6034217907, B VB

tA: A

o 1
6034217908, B UB

6034217909. (A= ¥a) < (g~ ¥p)

LI/

6034217910, B UB

Question Number : 56 Question Id : 6034212264 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

1 M aqueous solutions of each of Cu(NO,),, AgNO,, Hg,(NO,),; Mg(NO,), are electrolysed

using inert electrodes. Given : ES =080V, E =079V, EY 5

1 gh -
and EMgh/Mg 235V,

Statement {l] . With i:ncreasing voltage, the sequence of deposilion of metals on the
cathode will be Ag, Hg and Cu.

Statement (II) : Magnesium will not be deposited at cathode instead oxygen gas will be
evolved at the cathode.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
6034217911, Both Statement I and Statement Il are correct

6034217912 Both Statement I and Statement Il are incorrect



6034217913, Statement I is correct but Statement 11 is incorrect

6034217914. Statement I is incorrect but Statement Il is correct

Question Number : 56 Question Id : 6034212264 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

qﬁ%awﬁqm%:

Cu(NO,),, AgNO,, Hg,(NO5),; Mg(NO,), Y& % 1 M fefid faeram =it sifera saagrei =i
39 Hd BY foga srosfed foham |
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Options :

6034217911. HUTI ﬁIWllﬁHﬁ%

603421791, PE 1 IR e 1L HI TTerd €

6034217913, P A1l TR €, T R 117w €

6034217914, T LTI B, T RATIIHE &

Question Number : 57 Question Id : 6034212265 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A(g) — B(g) +C(g) is a first order reaction.

Time t o0

p-;y shem p ¢ p'l-

The reaction was started with reactant A only. Which of the following expression is
correct for rate constant k ?

Options :

P

6034217915, E P



o=t P
6034217916 t 2(pe —Pt)

pocy, P
6034217917, t (Po—Pt)

6034217918 ¢ Pt

Question Number : 57 Question Id : 6034212265 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A(g) — B(g) +C(g) Tk YoM Hife o sifulsan @ :

Time t o0
Pram Pt P
aAfarferan haet sy A o I gy i 2 | Frefafaa § 9 fm s o fens k% fag
el g?
Options :
k=l Pe
6034217915, E Py
o=t P
6034217916. t 2(Pe—Pt)
poesdyyy P
6034217917. t (P=—Pt)

t
6034217918. Pt

Question Number : 58 Question Id : 6034212266 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
I S0y NO; and N3 the hybridizations at the central atom are respectively :

Options :
5 sp and s
6034217919, P? sp P



= i .
6034217920. "Pe o and °P

ol ;
6034217921. sp’, sp? and sp

o 2
6034217922, sp?, sp? and sp

Question Number : 58 Question Id : 6034212266 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SO,, NO, s N H =4 THTY  HHl SFAT: ¢ :
Options :

5 P
6034217919. PR L 2

ot
5P, 5 Ud s
6034217920. 224 P

2 2ug
6034217921. PP Rk Qasp

Ty
6034217922, SP7 P~ T sp

Question Number : 59 Question Id : 6034212267 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Choose the incorrect trend in the atomic radii (r) of the elements.

Options :
P
6034217923, At~ Cs

reo <1
6034217924, & AL

T
6034217925, Kb~ "Cs

I <r
6034217926, Br K

Question Number : 59 Question Id : 6034212267 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
el ohi TETY] e (r) o ST Wehfd i A

Options :

) R
6034217923, At~ Cs



Fay. <T,
6034217924, V& Al

I <7r
6034217925, Kb~ "Cs

I <7T
6034217926. Br ~ 'K

Question Number : 60 Question Id : 6034212268 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct statements from the following are :

(A) TI** is a powerful oxidising agent

(B) AP does not get reduced easily

(C) Both AP* and TI* are very stable in solution

(D) TI* is more stable than TI**

(E) AP™* and TI* are highly stable

Choose the correct answer from the options given below :
Options :
6034217927, (A (€) and (D) only

6034217928, \B) (D) and (E) only

6034217929, (Y)+ (B), (D) and (E) only

6034217930. {A)' (B)’ (C)’ {D) and {E)

Question Number : 60 Question Id : 6034212268 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
frefatad § 9 98 FUA § -

(A) T3+ Te wIfsemett stfaitao e ¢ |
(B) AB* 3T % Wy v T e 2
(C) AP+ T TP+ 3 & faera # wmh €
(D) TI*, TB+ 9 a1ferk 2w € |

(E) APB* wd TI+ ercaferss Tm €

5 feu o fasredi # @ wE IO A
Options :

Fae (A), (C) 3R (D)

6034217927.



%9 (B), (D) &R (E)

6034217928.

%9 (A), (B), (D) AR (E)

6034217929.

, (B), (C), (D) TR (E)

6034217930. {A)

Question Number : 61 Question Id : 6034212269 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘X’ 1s the number of acidic oxides among VD}. VED3, CrOg, V?_.DE and MHZ'D;,. The primary
valency of cobalt in [Co(H,NCH,CH,NH,)3)], (5O4); is Y. The value of X+Y is

Options :

W

603421793 1.
6034217932, 2
6034217933, 2

6034217934, 4

Question Number : 61 Question Id : 6034212269 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

VO,, V,0,, CrO;, V,0; T8 Mn,0, # & &g ATa9iss] &1 §&a ‘X © |
[Co(H,NCH,CH,NH,),)], (5O,), | =hisiice i FieifHeh GARThRal Y € 1X + Y & AH

2
Options :

603421793 1.
6034217932, 2
6034217933, O

6034217934, 4

Question Number : 62 Question Id : 6034212270 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of unpaired electrons responsible for the paramagnetic nature of the following
complex species are respectively :

[Fe(CN),]?~, [FeF >, [CoF¢]*~, [Mn(CN)]*>~



Options :
6034217935. 1,552

6034217936. 11,42

6034217937. 14,42

6034217938, 1r 2 4, 2

Question Number : 62 Question Id : 6034212270 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Frefelfiam STaeEeT A § S S o 3 o e s see A g
ER N

[Fe(CN)]>~, [FeF ]2, [CoF¢>~, [Mn(CN),]~
Options :
6034217935. L5352

6034217936, L L4 2

6034217937, L4 4 2

6034217938. 1,5,4,2

Question Number : 63 Question Id : 6034212271 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II.

List - 1 List - II
Complex Primary valency and Secondary valency
(A) [Co(en),Cl,]Cl1 (n 3 6
(B)  [PHNH,),CINO,)] an 3 4
(C) Hg [Co(SCN),] (1) 2 6
(D) [Mg {EDTA]]Z_ (IvVy 2 -4
Choose the correct answer from the options given below :
Options :
arase, (A1), (B(IID), (C)-I), (D)-(IV)

s034217940, 2D, (B)-(L), (C)-(IV), (D)-(D



s03a2170a. Y-, (B)-(1V), (C)-(1D), (D)-(ILI)

6034217942, ()-(1D), (B)-(T), (C)(1D), (D)-(IV)

Question Number : 63 Question Id : 6034212271 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Geit-1 31 GeAl-11 % w1y forer =1
geit-1 -1

(A) [Co(en),CL]Cl @O 3 6

(B) [P{NH;),CI(NO,)] (I 3 4

(€) Hg[Co(SCN),] (I 2 6

(D) [Mg (EDTA)>~ () 2 4
Options :

6034217939, (V-(1), (B)-(1TI), (C)-(ID), (D)-(1V)

6034217940, L1, (B)-(I), (OH(IV), (D)-(0)

s03a217941. ()-(1), (B)-(IV), (C)-(1I), (D)-~(III)

6034217042, -, (B)-(), (C)-(II), (D)-AV)

Question Number : 64 Question Id : 6034212272 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Mixture of 1 g each of chlorobenzene, aniline and benzoic acid is dissolved in 50 mL ethyl
acetate and placed in a separating funnel. 5 M NaOH (30 mL) was added in the same
funnel. The funnel was shaken vigorously and then kept aside. The ethyl acetate layer in
the funnel contains :
Options :

6034217943, benzoic acid
6034217944, DeNzoic acid and chlorobenzene

6034217945, chlorobenzene and aniline

6034217946, Penzoic acid and aniline



Question Number : 64 Question Id : 6034212272 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FARTS S, UFHTEA Te aSiseh 37 Todeh o 1 g o A9 %1 50 mL T THie | =ierl 71 v
YUFRRT T H @ T4 3H i H 5 M NaOH & 30 mL I fHamn T | &1 &1 SiRer 27 9
feamet % agma TR T fean | #ig ¥ uftre teee wa § HeE §

Options :

6034217943. SIE

6034217944

A O e

6034217945

6034217946. SIE R

Question Number : 65 Question Id : 6034212273 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Cl Cl . Br Br
Statement (I) : \_/ is more polar than \_/ 2
Br
\ Br
Statement (II) : Boiling pointof . Islower than \_/Br but it is more polar
Br ——

i B{_/Br
han :

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

6034217947 Doth Statement I and Statement II are correct

6034217948, Both Statement I and Statement II are incorrect
6034217949 Statement I is correct but Statement II is incorrect

6034217950 Statement I is incorrect but Statement Il is correct

Question Number : 65 Question Id : 6034212273 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



9 2 YA feu o €
1 Br

A (1) : c:;/c’ ;/Brﬁawfiﬁga‘m%

Br
O (1) : \=\B 1 FIE BL/Brﬁmﬁw%ﬁﬁﬁ%BpBr@aﬁﬁ

yalia Bl T
UG FUA el 1, 79 Ry T fawed # 9 wEr 3w g4
Options :
6034217947, BT 1 3R He 11 T WL €

6034217045, BT 1 SR T 11 AT Terd €

6034217949, P A1 TEl €, T TR 1 7TeAd ©

6034217950, P 1 LT B, U0 YT I Wel ©

Question Number : 66 Question Id : 6034212274 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The number of optically active products obtained from the complete ozonolysis of the
given compound is :

o
H,C-CH=CH-C-CH=CH-C-CH=CH-CH,4
H CH,
Options :

6034217951, 0
6034217952, 1
6034217953, 2

6034217954, 4

Question Number : 66 Question Id : 6034212274 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



few T it o qoi STt sT9eRA A W YEU YUTe SISl R HEAl €

oo

Hal —CH=CH~C—CH=CH-(-{H=CH~CH,
i CH,

Options :

6034217951, 0
6034217952 1
6034217953, 2

6034217954, 4

Question Number : 67 Question Id : 6034212275 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Match List - I with List - I1.

List - I List - 11
Conversion Reagents, Conditions used
Cl OH
(A) @H () Warm, H,O
Cl OH
(B) éj—h (I) (a) NaOH, 368K; (b) H,O*
NO, NO,
Cl OH
NO, NO,
(©) — (Ilf) (a) NaOH, 443K; (b) H,O™
NO, NO,
OH
O,N NO, O,N NO,
(D) R (IV) (a) NaOH, 623K, 300 atm; (b) H,O™
NO NO

2 2

Choose the correct answer from the options given below :
Options :
s03a217955. L3, (B)-(IV), (C)-(1I), (D)-(1)

s03a217956. ()-(IV), (B)-(ITD), (C)-(T), (D)~(IT)

6034217957 2=, (B)-(ILD), (C)-(D), (D)-(IV)

6034217955, \“2-(IV), (B)-(I1D), (C)-(ID), (D)-(I)
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034217958, (V-(IV), (B)-(1LT), (C)-(1D), (D)-()
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Correct Marks : 4 Wrong Marks : 1

“P” is an optically active compound with molecular formula C,H;,O. When "7’ is treated
with 2, 4-dinitrophenylhydrazine, it gives a positive test. However, in presence of Tollens
reagent, “P” gives a negative test.

Predict the structure of “P”.
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The descending order of basicity of following amines is :

NH,
(A)
NH,
(B)
MeO
NH,
(©)
O,N
(D) CH,NH,

(E) (CH;),NH

Choose the correct answer from the options given below :
Options :

6034217963, E>D>B>A>C

6034217964, E>D>A>B>C

6034217965, E>A>D>C>B

6034217966. B> E>D>A>C



Question Number : 69 Question Id : 6034212277 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frefefad THAT skl &CerRa =1 =2l 9 ©
NH,
(A)
NH,
(B)
MeO

by

(<€)
O,N
(D) CH,NH,
(E) {CHB]ENH
2 fau o fosredi § @ W@ S -
Options :
6034217963, E>D>B>A>C

6034217964, E>D>A>B>C
6034217965. E>A>D>C>B

6034217966, B>E>D>A>C
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Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement (I) : On hydrolysis, oligo peptides give rise to fewer number of a-amino acids
while proteins give rise to a large number of B-amino acids.

Statement (II) : Natural proteins are denatured by acids which convert the water soluble
form of fibrous proteins to their water insoluble form.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
6034217967, Both Statement I and Statement Il are correct



6034217968 Both Statement I and Statement Il are incorrect

6034217969 Statement I is correct but Statement 11 is mmcorrect

6034217970, Statement I is incorrect but Statement II is correct
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Butane reacts with oxygen to produce carbon dioxide and water following the equation
given below.

13
CygHjp(g) + 302(8) — 4C0,(g) + 5H,O(I)

If 174.0 kg of butane is mixed with 320.0 kg of O,, the volume of water formed in liters is
(Nearest integer)

[Given : (a) Molar mass of C, H, O are 12, 1, 16 g mol~ ! respectively, (b) Density of
water = 1g mL~ 1
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One litre buffer solution was prepared by adding 0.10 mol each of NI—I and NH Cl in
deionised water. The change in pH on addition of 0.05 mol of HCl to LhE above solutlon
is X102 (Nearest integer)

Given : pK, of NH;=4.745 and log;o3 =0.477

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
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The number of paramagnetic metal complex species among [CD{NH )2, [Co(C,0)sP
[MnCl1]*~, [Mn(CN)/]*~, [CDF6]3_ [Fe(CN),]>~and [FeF;]°~ with same number of

unpauecl electrons is _
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[n Dumas” method 292 mg of an organic compound released 50 mL of nitrogen gas (N,)
at 300 K temperature and 715 mm Hg pressure. The percentage composition of ‘N’ in the
organic compound is % (Nearest integer)

(Aqueous tension at 300 K=15 mm Hg)
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Identity the structure of the final product (D) in the following sequence of the reactions :
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Total number of sz hybridised carbon atoms in product D is
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